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7. Given the sets of numbers, N,Z and Q. the
ine 253y 11 5 true statement is
1. Evaluating 5 +3 7 X135 gives A 0¢N
1
A —
5
2 -
x 1
2 C V3eq
D 12
C 2—5- T EN
32 '
‘ 7 8. The number.0.084789 e
D —-—— significant figures giv
32 A 0.004
B 0.005
Py - & 0.00479
2. The value of the digit 5 in 0.0513 is D 0.0047
A 5units . -
B .5 hundreds 9. 0.013 x 4 expres standard form gives
C Stens ‘4‘
D :5 hundredths "
3. The product y“..yf“ simplifies to 5.2 % 107
A (2y)® . ¥ rtain period an exchange rate was 1US
s ' llar = 510 FCFA and | Euro =1.75 dollars: A
x ¥ r in Europe was bought for, 2,000 Euro. The
2 cost of the car in FCFA is
C y3a X 1,785,000
B* 1,020,000
42 C 178,500
Dy 4 D 102000

4, At town P, the temperature is
Q, the temperature is 30°C.

1.

An exercise book costs 250 FCFA and is sold

at a profit of 20%. The selling price in FCFA.
will be

A 300
B 270
C 230
D 290

“12.
4 R 13,
5 ;. S
25 q ) Ly .):’lz_
3 -
¢ 25
4 i
D —

4-/0570/1/A/MCQ

A map_showing two towns
apart has a scale of |:
distance, in km, between th

which are 6km '
20000. The actual
€ two towns is

A 30 l . Frmr b
B 60000 K1y B2
€ 120000 - e )
D 6000 X

The shaded region in the Venn diagram
represents

# P'NnQ ?/f////////////////
 Z .,

B PoQ % //4/////

C PuUQ' ' Y

D P'uQ
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14.  Given that M= (2,4,6,8,10} and 20. Given that each interior angle of a regular
N =1{13579)}, then M N is polygon is 160°, then the number of sides of
A 0 the polygon is '
B  {o} A 9
e 9 B 10
C 1IB
Dt D. 20
5. Eonsn_de; tthe:r?tate:?enls p- Lum‘ts short and q: 21. A rectangle has sides in the ratio 1:1. T
um Is fat, 1hen (he statement * Lum is short special name for this rectangle is a
and not fat” is written in symbolic form as
A~ rPngq A Square
g pp~q B Trapezium v /
C ~(~pAg) C Kite
D ~pa~q D Triangle U
16.  Ifp represents a rectangular plane and q 22. Figure 3 is a circle wi N
represents a square plane, then a tangent. Angle TOP ize of -
A p=q angle OPT is
B peig =z
€ q=p 4
D qzp P
17. In a relation the elements of the second set :
(Codomain) that ~are associated with the T
elements of the first set (Domain) are called ' '
A therange Fig. 3
Images
C onetoone 36‘;
D inverse 18
- - ' c 72°
18. Given that f(x) = 2x + 6, then the value o D 26°
when f(x) = 4x is
A 23.  Oneangle of a right-angled triangle is 35°, the
B 2 third angle is
A 125°
B 215°
19. = 55
. D 65°
24, Figure 4 shows two similar triangles PQR and
J KLM. Given that the area of triangle PQR
is 18cm?, then the area of triangle KLM
in cm? is
A
150° P 6cm
A 140°
0

A 36
B 72
C 32 ]
D 24
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25.  The length of a rectangle is three times I:(s 29, The length of the line segment joining the
width. Given that the width is 5cm, the area in points (1, 5)and (4, 1) is
cm’of the rectangle is
A 15 L2S A 2 \Cem A 10 units
' B 20 w = € B 5units
C 30 . € 4 units i
B A- L AW - - D 7 units e
75 2 o \Timax Sem. ) K’f"ml , <

26. In figure 5, O is the centre of the circle. The

t2-9

area of the shaded sector, in terms of m, is 10 Simplifyi i
: ) B . t o
' _ mplifying the expression Ters s to
Fig. 5 ' A
A 36rcm?
B 30mcm? s
C o6nem? ¢
D 3necm? 31. mplif§iing 3(x — 2)) — 4(x — 5y) gives
27. In figure 6, the coordinates of the point Q are
& dy-x  Tocmfu = Yo - 204
3 x_26y 2~ ' 1 \"
A @-a) y = & 14y +x EN Gl UDLE "‘.(g .,'20,1
0 41\ o8| B x-26y ' .
B (4,-2) T <2C = 2 5(1
% | T ®
-2, 9) o 6 2. The t;ormula for the area of a triangle is
D (4 2 A=:bh.Thenb =
X A 2_A
h
B b
. 2A
28. Given th ines U: 3x+2y=3 and C 2Ah
L mx -2y uch that I, is parallel to I
then, e o D Ah
A
7y+3
4 33. The value of “sx_ Whenx =2anq ¥y=1is
SN
A 04 -3y
B | ~ e
¢ 3 cC 17 ?) :
2 D 1.1
. o \
. ‘ l r ’ Q
P -3 £ > |
|
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